
  

OCTOBER 2011 U/ID 5219/PXM 

Time : Three hours Maximum : 100 marks 

SECTION A — (10 × 3 = 30 marks) 
Answer ALL questions. 

All questions carry equal marks. 

1. (a) What is Diagonal Matrix? 

  ‰ø»Âmh Ao GßÓõÀ GßÚ? 

 (b) Mention any two applications of 

differentiation. 

  ÁøPUöPÊÂß £¯ß£õkPÎÀ H÷uÝ® 
CµsiøÚU SÔ¨¤kP. 

 (c) Define compound interest and compound 

amount. 

  Tmk Ámi ©ØÖ® TmkzöuõøP CÁØøÓ 
Áøµ¯Ö. 

 (d) What do you understand by sinking fund? 

  Dk {vø¯¨ £ØÔ } AÔÁöußÚ? 

 (e) Mention the uses of frequency table. 

  {PÌöÁs £mi¯¼ß £¯ßPøÍ SÔ¨¤kP. 

 (f) What are the essential qualities for an ideal 

measure to central tendencies? 

  ÂÊª¯ ø©¯U ÷£õUPÍøÁPÐUS 
Azv¯õÁ]¯©õÚøÁPÒ ¯õøÁ? 

(8 pages) 
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 (g) Distinguish between dispersion and 

skewness. 

  £µÄøP AÍøÁ ©ØÖ® ÷Põmh AÍøÁ 

÷ÁÖ£õk u¸P. 

 (h) What is rank correlation? Mention its  

formula. 

  uµ JmkÓÄ GßÓõÀ GßÚ? Auß `zvµzøu 

SÔ¨¤kP. 

 (i) Write down any two merits of moving 

average. 

  |P¸® \µõ\›°ß H÷uÝ® Cµsk |ßø©PøÍ 

GÊxP. 

 (j) What is cost of living index numbers? 

  ÁõÌUøPa ö\»Ä SÔ±möhsPÒ GßÓõÀ 

GßÚ? 

SECTION B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 
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4. The difference between simple and compound 

interest on a sum for 3 years at 5% p.a. is  

Rs. 76.25. Find the sum. 

 Á¸hzvØS 5% Ámi Ãu® ‰ßÖ BskPÎÀ uÛ 

ÁmiUS®, Tmk ÁmiUS® EÒÍ Âzv¯õ\ öuõøP   

¹. 76.25 GÛÀ Cuß öuõøPø¯U PõsP. 

5. Compute median for the following data : 

Weakly wages  (Rs.) : 50-60 60-70 70-80 80-90 

Number of labours : 5 8 15 25 

Weakly wages  (Rs.) : 90-100 100-110 110-120  

Number of labours : 21 19 7  
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 RÌÁ¸® ÂÁµ[PÐUS Cøh{ø» PnUQhÄ® :  

ÁõµUT¼ (¹.) :  50-60 60-70 70-80 80-90 

öuõÈ»õÍºPÎß 

GsoUøP :  

 

5 

 

8 

 

15 

 

25 

ÁõµUT¼ (¹.) :  90-100 100-110 110-120  

öuõÈ»õÍºPÎß 

GsoUøP :  

 

21 

 

19 

 

7 

 

6. A sample of 10 patient making initial visit to 

health department travelled these distances : 

Patient : 1 2 3 4 5 6 7 8 9 10 

Distance (in miles) : 6 10 12 4 13 14 13 7 14 10 

 Calculate the standard deviation. 

 J¸ ©õv›°À EÒÍ 10 ÷|õ¯õÎPÒ J¸ 

_PõuõµzxøÓUS Bµ®£ Á¸øP ¦›ÁuØS 

£¯n¨£mh yµ[PÒ ¤ßÁ¸©õÖ :  

÷|õ¯õÎ : 1 2 3 4 5 6 7 8 9 10 

yµ® (ø©ÀPÎÀ) : 6 10 12 4 13 14 13 7 14 10 

 öPõkUP¨£mh uPÁ¼¼¸¢x vmh Â»UPzøu 

PnUQk.  

[P.T.O.]
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7. By using the following data, find out the two lines 

of regression and from them compute the Karl 

Pearson coefficient of correlation. 

 250=ΣX , 300=ΣY , 65002 =ΣX , 000,102 =ΣY , 

7900=ΣXY  and 10=N . 

 RÌUPsh ÂÁµ[PøÍ £¯ß£kzv Cµsk 

Ehßöuõhº¦ ÷PõkPøÍ Psk¤iUPÄ®. CvÀ 

C¸¢x PõºÀ¤¯º\ß JmkÓÄU öPÊÂøÚ 

PnUQhÄ®. 

 250=ΣX , 300=ΣY , 65002 =ΣX , 000,102 =ΣY , 

7900=ΣXY  ©ØÖ® 10=N . 

8. Compute the cost of living index number from the 

following data : 

  Price 

Commodities Weight 2000 2002 

Food 35 400 550 

Rent 25 250 300 

Clothing 15 500 600 

Fuel 20 200 350 

Entertainment 5 150 225 
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 RÌUPsh ÂÁµ[PøÍU öPõsk ÁõÌUøPa ö\»Ä 
SÔ±mk Gs PnUQhÄ®. 

  Âø» 

ö£õ¸mPÒ {øÓ 2000 2002 

EnÄ 35 400 550 

ÁõhøP 25 250 300 

xo 15 500 600 

G›ö£õ¸Ò 20 200 350 

ö£õÊx÷£õUS 5 150 225 

SECTION C — (2 × 20 = 40 marks) 

Answer BOTH questions. 

All questions carry equal marks. 

9. (a) Find the inverse of the matrix 
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 GßÓ Ao°ß uø»RÌ Aoø¯U 

PõsP. 

Or 
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 (b) Find the future values of the  following 

ordinary annuities : 

  (i) Rs. 1,000 a year for 5 years at 7% p.a. 

compounded annually. 

  (ii) Rs. 500 at the end of every 3 months for 

10 years at 8% p.a. compounded 

quarterly. 

  (iii) Rs. 4,000 each six months for 15 years 

at 5% p.a. compounded semi-annually. 

  RÌUPsh BskzöuõøPPÎß Á¸[Põ» 

©v¨¦PøÍ Psk¤i. 

  (i) ¹£õ´ 1,000 Ãu® Á¸hzvØS «uõÚ 7% 

Bsk Ámi ÃuzvÀ 5 Á¸hzvØPõÚ 

Tmk BskzöuõøP ‰»® 

  (ii) ¹£õ´ 500 Ãu® ‰ßÖ ©õu •iÂß 

«uõÚ 8% Bsk Ámi ÃuzvÀ  

10 Á¸hzvØPõÚ Tmk PõÀ 

BskzöuõøP ‰»® 

  (iii) ¹£õ´ 4,000 JÆöÁõ¸ 6 ©õuzvØS 

«uõÚ 5% Bsk Ámi ÃuzvÀ  

15 Á¸hzvØPõÚ Tmk Aøµ 

BskzöuõøP ‰»®. 
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10. (a) Calculate the Karl Pearson’s coefficient of 

skewness for the following data : 

Age : 20-25 25-30 30-35 35-40 

Number of persons : 50 70 80 180 

Age : 40-45 45-50 50-55 55-60 

Number of persons : 150 120 70 50 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁµ[PÐUS  
PõºÀ ¤¯º\Ûß ÷PõmhUöPÊøÁ PnUQhÄ®. 

Á¯x : 20-25 25-30 30-35 35-40 

|£ºPÎß GsoUøP :  50 70 80 180 

Á¯x : 40-45 45-50 50-55 55-60 

|£ºPÎß GsoUøP :  150 120 70 50 

Or 

 (b) Fit a straight line trend by the method of 

least squares to the following data and 

calculate trend values. Also estimate the 

sales for the year 2008. 

Year : 1997 1998 1999 2000 2001 2002 2003 

Sales  

(in lakhs) : 

 

125 

 

128 

 

133 

 

135 

 

140 

 

141 

 

143 

  ¤ßÁ¸® Â£µ[PÐUPõÚ ÷£õUS 
÷|º÷PõmiøÚ «a]Ö ÁºUP •øÓ°À Aø©zx 
÷£õUS ©v¨¦PøÍU PnUQkP. ÷©¾® 2008–® 
BsiØPõÚ ÂØ£øÚø¯ ©v¨¥k ö\´P. 

Bsk :  1997 1998 1999 2000 2001 2002 2003 

ÂØ£øÚ  

(¹. »m\zvÀ) :  
 

125 

 

128 

 

133 

 

135 

 

140 

 

141 

 

143 

———————  


